Emerging Technologies IoT, Augmented Reality, Virtual Reality
Q1.
a) An overview of generic IoT systems has four elements: 1-Sensing, 2-Communication, 3- Computation, and 4-Actuation. Explain these elements in brief to understand an IoT System? 
SOLUTION
Introduction
The four critical elements in IoT are 1-Sensing, 2-Communication, 3- Computation, and 4-Actuation are the epitomes of the Internet of Things' versatilities. They can be briefed as below: 

1. Sensing -- In IoT workflow, the first step is collecting information at a specific activity point. This pertains to capturing information by a wearable device, an appliance, any number of commonly found devices, or a wall-mounted control. The sensing can be environmental, visual or audible, biometric, and biological (or all the above). The Its Half solved only
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Q2.
a) What is the difference between Augmented Reality and Virtual Reality? Explain with at least one example for each?
SOLUTION
Introduction
To discuss the difference between Augmented Reality and Virtual Reality, it needs to get oriented. Both AR and VR have their identities and importance.

What is AR (Augmented Reality)?-- AR is the exquisite blend of the physical elements and the digital world for creating an artificial environment. Various apps have been developed by using AR technology and being used in desktops and mobiles. For example -- by harnessing AR Technology, we get to pop out 3D photos, emails, text messages and 
Case Study
3 a. What are the critical issues mentioned in the case?(5 Marks) 
SOLUTION
Introduction
The critical issues in the case are highlighting the case, studying the case in between the lines, churning out the gist from each of the words, and completing sentences and sentences after sentences. In the case study, an elaborate application of IoT is being projected. A meal subscription provider has decided to launch a unique business of 
b. How the issues are resolved and solutions implemented? (5 Marks) 
SOLUTION
Introduction
The issues could be resolved, and its solutions were implemented in a technically comprehensive manner. The start-up had realized their client's requirements in search of IoT savvy, skilled and qualified engineers. The entire coordination of monitoring, looking after the engineering of IoT, and giving finishing touches to taking the system for all 
